) €M)

|
<
N

ooa

1074

a0 d ) (cm)

-

1 2 3

o
©
a

-2

M_original_stepZ__prito 1000 _etaZ
M”mKFit_step
M_an%
M_fas ste "ptl1to1000_ éta2p0to2

wivivlle|

E OT102p5
__ptltol000 eta2p0to2
le"step2_ pt1lto1000 eta2p0to2

b3

pix€e[CPEGeneric_stepZ pt1t01080 eta2p0to2p5

o©p_/p)

SIS N

T

P
L

#
o
A

....................................

SRR L

10

-+ ] 1 : : .

Rat

0 1 2 3
TP ® (PCA to beamline)

-1

1

1053

=
_|__|__|__|__I__|__|__|__|_
il

-1r- ----- -ll-

0.95

1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


